

NAME: EKONG, VIVIAN UMOUDOE

DEPARTMENT: MBBS

COLLEGE: MHS

MATRIC NO: 19/MHS01/148

COURSE: MATH 104

1. Integration of functions

$$2x^2 \ln x$$

$$\int 2x^2 \ln(x) dx$$

$$2 \int x^2 \ln(x) dx \quad \text{--- Apply linearity}$$

$$\int x^2 \ln(x) dx$$

Integrate by parts  $\int fg' = fg - \int f'g$

$$f = \ln(x)$$

$$f' = 1/x$$

$$g' = x^2$$

$$\int g = x^3/3$$

$$= \frac{x^3 \ln(x)}{3} - \int \frac{x^2}{3} dx$$

$$\int x^2/3 dx$$

$$= 1/3 \int x^2 dx$$

$$\int x^2 dx$$

Apply power rule

$$\int x^n dx = \frac{x^{n+1}}{n+1} \quad \text{with } n=2:$$

$$= x^3/3$$

$$1/3 \int x^2 dx$$

$$= x^3/9$$

$$\frac{x^3 \ln(x)}{3} - \int \frac{x^2}{3} dx$$

$$= \frac{x^3 \ln(x)}{3} - \frac{2x^3}{9}$$

$$\int 2x^2 \ln(x) dx$$

$$= \frac{2x^3 \ln(x)}{3} - \frac{2x^3}{9} + C$$

$$= \frac{2x^3(3 \ln(x) - 1)}{9} + C$$



$$3e^2 \cdot 3te^{2t}$$

2. Apply linearity -  $= 3 \int te^{2t} dt$

Integrate by parts  $\int fg' = fg - \int f'g$

$$f = t, g' = e^{2t}$$

$$f' = 1, g = e^{2t}/2$$

$$= \frac{te^{2t}}{2} - \int \frac{e^{2t}}{2} dt$$

$$\int e^{2t}/2 dt$$

Substitute  $u = 2t$

$$du/dt = dt = 1/2 du$$

$$= 1/4 \int e^u du$$

$$\int e^u du$$

Apply exponential rule

$$\int a^u du = \frac{a^u}{\ln(a)} \text{ with } a = e$$

$$= \frac{e^u}{\ln(e)}$$

$$= e^u$$

$$= 1/4 \int e^u du$$

$$= e^u/4$$

Undo substitution  $u = 2t$

$$= \frac{e^{2t}}{4}$$

$$\frac{te^{2t}}{2} - \int \frac{e^{2t}}{2} dt$$

$$= \frac{te^{2t}}{2} - \frac{e^{2t}}{4}$$

$$\int 3te^{2t} dt$$

$$= \frac{3te^{2t}}{2} - \frac{3e^{2t}}{4} + C$$

$$= \frac{3(2t-1)e^{2t}}{4} + C$$



3.

$$x^2 \sin x$$

Integrate by parts:  $\int f g' = fg - \int f' g$

$$f = x^2, g' = \sin(x)$$

$$f' = 2x, g = -\cos(x)$$

$$= -x^2 \cos(x) - \int -2x \cos(x) dx$$

$$= -x^2 \cos(x) + 2 \int x \cos(x) dx$$

$$= -2 \int x \cos(x) dx \quad \text{Apply linearity}$$

$$\int x \cos(x) dx$$

Integrate by parts:  $\int f g' = fg - \int f' g$

$$f = x, g' = \cos(x)$$

$$f' = 1, g = \sin(x)$$

$$= x \sin(x) - \int \sin(x) dx$$

$$\int \sin(x) dx$$

$$= -\cos(x)$$

$$= x \sin(x) - (-\cos(x))$$

$$= x \sin(x) + \cos(x)$$

$$- 2 \int x \cos(x) dx$$

$$= -2(x \sin(x) + \cos(x))$$

$$= -x^2 \cos(x) - (-2x \cos(x) + 2 \sin(x))$$

$$= -x^2 \cos(x) + 2x \cos(x) - 2 \sin(x)$$

$$\int x^2 \sin(x) dx$$

$$= 2x \sin(x) - x^2 \cos(x) + 2 \cos(x) + C$$

$$= 2x \sin(x) + (2 - x^2) \cos(x) + C$$

4.



4.  $\cos 5x \cos 6x$

$$\int \cos(5x) \cos(6x) dx$$

Apply product-to-sum formulas:

$$\sin(x) \sin(y) = \frac{1}{2} (\cos(y-x) - \cos(y+x))$$

$$1 - \sin^2(x) = \frac{1}{2} (1 - \cos(2x))$$

$$\cos(x) \cos(y) = \frac{1}{2} (\cos(y+x) + \cos(y-x))$$

$$\cos^2(x) = \frac{1}{2} (\cos(2x) + 1)$$

$$\sin(x) \cos(y) = \frac{1}{2} (\sin(y+x) - \sin(y-x))$$

$$\cos(x) \sin(x) = \frac{1}{2} \sin(2x)$$

$$= \frac{\int \cos(11x) + \cos(x) dx}{2}$$

Apply linearity

$$= \frac{1}{2} \int \cos(11x) dx + \frac{1}{2} \int \cos(x) dx$$

$$\int \cos(11x) dx$$

Substitute  $u = 11x$

$$du/dx = 11$$

$$dx = \frac{1}{11} du$$

$$= \frac{1}{11} \int \cos(u) du$$

$$\int \cos(u) du$$

$$= \sin(u)$$

$$\frac{1}{11} \int \cos(u) du$$

Undo substitution  $= \frac{\sin(u)}{11} = \frac{\sin(11x)}{11}$

$(u = 11x)$

$$\int \cos(x) dx$$

$$= \sin(x)$$

$$\frac{1}{2} \int \cos(11x) dx + \frac{1}{2} \int \cos(x) dx$$

$$= \frac{\sin(11x)}{22} + \frac{\sin(x)}{2}$$

$$\int \frac{\sin(11x)}{22} + \frac{\sin(x)}{2} + C$$



5.

$$\sin 7x \cos 2x$$

$$\int \cos(2x) \sin(7x) dx$$

Apply product-to-sum formulas:

$$\sin(x) \sin(y) = \frac{1}{2} (\cos(y-x) - \cos(y+x))$$

$$\sin^2(x) = \frac{1}{2} (1 - \cos(2x))$$

$$\cos(x) \cos(y) = \frac{1}{2} (\cos(y+x) + \cos(y-x))$$

$$\cos^2(x) = \frac{1}{2} (\cos(2x) + 1)$$

$$\sin(x) \cos(y) = \frac{1}{2} (\sin(y+x) - \sin(y-x))$$

$$\cos(x) \sin(x) = \frac{1}{2} \sin(2x)$$

$$= \int \frac{\sin(9x) + \sin(5x)}{2} dx$$

$$= \frac{1}{2} \int \sin(9x) dx + \frac{1}{2} \int \sin(5x) dx$$

$$\int \sin(9x) dx$$

$$= \frac{1}{9} \int \sin(u) du$$

$$du/dx = 9$$

$$dx = 1/9 du$$

$$= 1/9 \int \sin(u) du$$

$$\int \sin(u) du$$

$$= -\cos(u)$$

$$= 1/9 \int \sin(u) du$$

$$= \frac{-\cos(u)}{9}$$

$$9$$

Undo substitution  $u = 9x$

$$= \frac{-\cos(9x)}{9}$$

$$\int \sin(5x) dx$$

Substitute  $u = 5x$

$$du/dx = 5$$

$$dx = 1/5 du$$

$$= 1/5 \int \sin(u) du$$

$$= \frac{-\cos(u)}{5}$$

$$5$$



Undo substitution  $u = 5x$

$$= \frac{-\cos(5x)}{5}$$

$$\frac{1}{2} \int \sin(9x) dx + \frac{1}{2} \int \sin(5x) dx$$

$$= \frac{-\cos(9x)}{18} - \frac{\cos(5x)}{10}$$

$$\int \cos(2x) \sin(7x) dx$$

$$= \frac{-\cos(9x)}{18} - \frac{\cos(5x)}{10} + C$$